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The figure below shows Parts of a Leal. Study it and iyt alial gy olaal SN

then answer the question: Which of the following TAAD A el A L) il ce vl W ad
numbers refers to the vein?
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The figure below shows a group of different animals.
Which letter of the fallowing refers to a mammalian organism
that reproduces by egps?

r - A !i "
Crocodile
(A) (B)
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EBased on the figure below that indicates Lhe life cycle of C e Pl By 0 ety A0 oLl Join 0 ks
a moss, what does the letter (A) represent? T (A) it Juy e
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O Em Lo h .d




i B B el sl - pusll Gl | =

Based on the lable below answer the question: s ol alid Jgaat N laa
Which l=tter of the following refers to an orpganism Lhat ANl _;:‘.:.;,.,. OIS A ety A e s i_d
reproduces by Splilling?
The letter Organism Lai@iﬁ.ﬂ Byl

A Coral D>yl A

B Bacleria C._L;GS-J'_:) B

c Hydra Idagh C

D Sponges e D

.
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Based on the figure below which indicates the types of .Gl 3 0 t!_,.‘.i TR alal aph Sein L s
flowers in plants. which lelter of the following denotes TG b fiJE B30 e b L e ,Jl
the perfectfincomplete flower?

(A)

O O O O



OB .l - gl Gl | =

ok ek BONUS & dededke ok

R S e e P A B S R
OBrealhn did a
o Eat plants et gl b
OE:r:rnIr.- wasle I | IOPRRE S o

OBum sugars & s




115:01

D

A ‘o 25 -3 °| =~

8B . o) - puolsdl Guall

record his data?

Hamad is conducting a scientific investigation using the tool Gt Bl A plaiaty, e 2 s Y
below. Which metric system unit will Hamad most likely use lo Tl dea A ;,i Jusal Faa Alin ~."" PR
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The polfination

~ia Y ople b

The vegelative propagalion Span plell

O
O The asexual reproduclion
O
O

The ferlilization ladtfl d
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Vim The figurs bebow lo answer the guestion Ll i Ala el ajp? S i
Which of the loowing images indicales » bl T Ll 0 Y ey e e
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What Is the purpose of the yolk in a bird's egg?

Il conlains food for the embryo

b It keeps the embryo safe hom other animals Sl il e Lal soad e Lila, b
Il protects the embryo iom drymng oul idall e el e €

Il keeps the embryo warm Siad s e Lila; d
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Based on the information in the food web below, ool 205 A8 BN 4 Bagapad lagliall i bl
Which of the following s an herbivore? tllle Llipa Aoy cligat &
Lo
Ennake KAWL
tond \ gasln \
bird

Filadl

/ _— grasshopper / R

grass ..f....:."..EJ!

—
OMnum and grasshopper ity i a3
Oﬂ-m and mouse iy yan b
OTnnd and snake ety il {e

OS nake and grasshopper —iandly el d

M
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Based en the figure below thal Indicates a food chaln on land. oA B e Y ey 10 bl Joa 3 ke
When converting a food chain into an energy pyramid, VAL A T AR e Jigad i Ll
Which of the following organisms locates at the base of the pyramid? Tl BT 3 ang Ay Laa o 1S .;;I
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The figure below illustrates the carbon cycle, study it
and then answer the question: Which letter of the

following letters indicates the decompositicn process?
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The figure below shows the methods of vegelative propagation A (gaadl SN G g el sy Ein
in plants. Which letter of the following refers to vegetative oA e Sl : d T

propagalion by runners?

(B)

O O O O
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The figure below shows the different branches of sclence, AR alel) gy b olial gl JSEN miayy
e which letter of the following indicates the branch of science ot 4B Al alall £ 8 N iy b Las s @-1
that might study how diseases spread in a population? fdiaa Luilal Aclas o oalal! gy i3 ) Akl

ﬁ

ba gy g
; Ay el a g dall y Y pye
Technology science physical science | Earth science

(A) (C) (D)
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Based on the figure below, which refers to the (ASLAN) Jalsh Jpaih Bty 20 slaaf gyt Jean n s
complete metamorphosis (butterfly) and the incomplete Raadl) taen o2 ] gaslly
metamorphosis (grasshoppers). TS 1 A 3.2 SIAN J N

What do the numbers 2,3 Indicate in this figure?

e e (42 Jash b g
Commplete MatamoljihoiiniBes| ingaspleie Matamorphays (Seannhapg o)
O vymph « 3) Lara 52 (3) el (1) .2
OE}Pupn  (3) Nymph Lpad () (2) b

O]} Pupa . (3) Larva

U (3) « d

Oz tana . 3y Pupa 5% (3) + 362 (2)
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